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EEE | TR | axmmsnn| Rx@maE| axrosan| RATHRE FAxIEE = e |IFEAR [EISIEER W R | Bocrestizn| soveste| EEE
m/s m/s m/s % h MJ MJ hPa % % %
1:00[FILE Ealcaki] 2|FadLh 80.5 0 0 0 0 0 10127 75.7
2:00[%& EEY 26|F 81.2 0 0 0 0 0 1012.6 75.8
3:.00[FILF 7 22|% 80.1 0 0 0 0 0 1012.7 75.9
4:00|Fadb 7 i A 57| JLFE 85.9 0.5 0.5 0 0 0 1012.9 76
5:00[78 7 437 83.9 05 1 0 0 0 1013.2 76.1
6:00[FEILF 7 45(7 84.1 0 1 0 0 0 1014.1 76.2
7:00[ 78 i} 437 77.9 05 15 0 0 0 1014.5 76.2
8:00[78 it} 52|F 78.8 0 15 0 0 0 76.2
9:00[Jt 7 7 6.2|F8 80.9 0 15 0 0 0.12 1015.2 76.3
10:00|FadL78 FadLiE 5.5|FaJLF 74.9 0 15 0.6 1 1015.2 76.3
11:00|FadL78 FadLiE 8.1[FEILFA 55.7 0 15 1 1.74 1014.4 76
12:.00|FEJLF FadLiE 9.5|FadLF 54.2 0 15 05 1.36 1013.7 75.7
13:00[JLFE E[A:ic] (B[ 52.2 0 15 0 0.66 1013.4 75.4
14:.00|FEJLFA FadLiE 7.1[dE 52 0 15 0.3 0.88 10129 75.1
15:00[ L8 FadLiE 8.4[FEILFA 44.6 0 15 05 0.98 1013.4 74.7
16:00] 78 E[A:ic] 8.1[FEItFA 49.9 0 15 0.6 0.52 1013.8 743
17.00|FaJL 7 i} 6.7|FEJLF 53.6 0 15 0 0.03 1014.7 74
18:00| 78 fii] 6.7| 7L FE 52.4 0 1.5 0 0 1015.7 73.7
19:00[F it} 5.5|7 55.1 0 15 0 0 1016.5 734
20:00|FE4L7H it} 6.5(F8 59 0 15 0 0 73.2
21:00| 7L 7H i A 49(F8it 7 59.7 0 15 0 0 1017.1 73
22:00| 747 i A 44[F5tL 7 61.1 0 15 0 0 1017.2 728
23:00| 78 fii] 4[FIt 7R 66.1 0 1.5 0 0 1017.3 72.7
24:00:00[3t 7 i} 4.4[7 64.9 0 15 0 0 1017.4 72.6
SPIEE]
EHEA | 1 RR | srmmesn | SARRMRE| BATHHEN HEXHREE NE |BEAE [SIEIEET Bt EMRE
m/s m/s % h MJ MJ hPa %
T 66.2 1014.7 74.9
e [ i) [ i) 9.5/t 7 87 1017.6 76.4
RCEF 11:52 4:20 9:46
=& 44.4 1012.5 72.5
FolE 15:00 23:40
BE 35 7.29
BRI B (%)
[JEEE | b | @it | = | == | m= [ Fameg | Eldi] E[2 EE | XA
AREEES1—)] 0.4] 0.2] 2.6] 1.9] 29] 10.6] 0.5] [ 0]




